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Directions: Answer all of the questions below. Write your answers in simplest form whenever
necessary. Be sure to show all of your work.

1) In the diagram below of AFRT, Qis a point on P_R, Sis a point on ﬁ, @5_' is drawn, and £RPT = £R50.
Which reason justifies the conclusion that /PRT ~ ASRI?

(1) aa
2) ASA
3) SAS
4) SSS

2) In the diagram of AABC and AZDC below, 4% and BD intersect at C, and £CAB = - £CED. Which
method can be used to show that A48 must be similar to AZ0C7?

A 8 1) SAS
>4 / /52
%'\,, _— (2) AA
c B 3) SSS
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AC CB
3)In AABC and ADEF, = oF - TR Which additional 1nformat10n would prove AABC ~ ADEF?
- 1) Ac=oDF e /
2) CB-FE /N
@) z4cB=sDFE yay /N
4) LBAC= LEDF A - D -

4) In the accompanying diagram, WA || @ and WA and AC intersect at point 7. Prove that
(WTH(CT) = (AT)(AT).
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5) In the diagram below of A4BC, D is a point on AB, Eis a point on BC, AC I DE, ©F = 25 inches,
AD = 13 inches, and D5 = 12 inches. Find, to the nearest tenth of an inch, the length of Z5.
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6) In the diagram below of right triangle ABC, CD s the altitude to hypotenuse 4B, CB=6,and AD= 5.
What is the length of BN
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7) In the diagram below of right triangle ABC, altitude BD is drawn to hypotenuse E, AC=16,and TD =7
What is the length of B1?

o

e
\ 4

p




